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1.3 100 keV 1.0 mg/cm2

600 1.0  cm2

10  cm   Au A
197 Z 79 ρ 1.93×104 kg/m3
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71016.2 ×

0 10 71048.1 ×

1.6 He+ Li++

(1)
(2)

(3)
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2

a
Z
nrn = , Z

n
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=

Z=1: mr 10
1 1053.0 −×= , mr 10
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16
1 102.2 −⋅×= smv , 16
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1 1026.0 −×= , mr 10
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1 104.4 −⋅×= smv , 16

2 102.2 −⋅×= smv
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1 1018.0 −×= , mr 10
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16
1 106.6 −⋅×= smv , 16
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eVT 4.54= eVE 4.54=

eVT 4.122= eVE 4.122=
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∆
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∆
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                                n=3, nm1.164λ
                                n=6, nm5.102=λ n = 8 9

1.12 n=10
45

1.13 12.2eV

13.6eV 3.4eV, 1.5eV
12.2eV n=1 n=2 n=3

12.1eV, 10.2eV, 1.9eV 102.6 121.8 653 nm

1.14

(1)

(2)

(3)

(1) nmmar 106.01006.12 10
01 =×== −

(2) eVE 8.62/6.13 ==
eVE 7.12/4.3 ==

(3) ∞= RR
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=

⋅
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+
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ER REEE +=0
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n
e

n
1

4 0

2

⋅=
hπε

υ n =1 2 3 … .

l

hnrml nne == υ n = 1 2 3 … ..

2.1  632.8 nm

eVE 96.1
8.632

1240
==

2.2  2.2 eV 350.0 nm

eVE 54.3
350

1240
==

                    3.54 2.2= 1.34 eV

2.3 1 100 MeV 900

(2) 938.26 MeV

2

'
1 (1 cos )
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h
m c

νν
ν θ

=
+ −

90o ' ' 90.4E h MeVν= =
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(1) 50 eV
(2 50 eV
(3)  50 eV 940 MeV

1 50eV nm
p
h 8.24

50
1240

===λ

(2) 50eV 0.174
2 e k

h nm
m E

λ = =

(3) 50eV 0.004
2 n k

h nm
m E

λ = =

2.6 0.025 eV
1877 MeV

0.13
2 n k

h nm
m E

λ = =

2.7  (1)
50 keV

(2)   12.4 GeV 1 GeV = 109 eV

          (1) 35.5 10
2 e k

h nm
m E

λ −= = ×

(2) 7

2 2 4
1 10hc nm

E m c
λ −= = ×

−

2.8 15  eV 0.1  nm

0.1x nm∆ =

x
hp

∆
≥∆   = 12.4 keV/c

2.9  L

(1)   L = 1 Å
(2)   L = 10 fm 1 fm =10­15 m
(3)   L = 10fm
(4) m = 10­6 g   L = 10­6 m

x
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∆
≥∆ pp ≈∆ , 2

22

mL2
h

m2
pE ≥=
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(1)   L =0.1nm, m=511KeV,    E=150eV
      (2) L =10fm, m=511KeV,    E=1.5×1010 =15 GeV
      (3) L =10fm, m=940MeV E=8.1 MeV

      (4) 610L m−= , 610m g−= , E 2.2×10 46 J

2.10 

4 eV

2 0

1
2 ( )m V Eκ

=
−

h

4

2
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× ×
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∂
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∂
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−

=
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=
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2Ex
mω

∆ =

2

222

)(22
)(

2 xmm
p

m
pE

∆
∆ h

===
2

E ω
=

h

2.13   2p3/2 1.6×10­9 s, 

74.11 10E eV
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2

n n
ma8
hE =
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e
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(3)  π π 140 MeV/c
2

1 α
πεπε

λ
==⋅=

c
eme

mca
c

hh

h

0

2

2
0

2

0 44

2
2

0

2

0 4
/ α

πε
=










=

c
eare

h

2 λc = 0.0039 Å re = 2.8×10­6 nm = 2.8 fm

3 6104.1 −×==
cmπ

πλ
h

nm = 1.4 fm

2.17 

λ = 1.75×10­7m

max/ λhc = 7.08eV 7.08eV

2.18  1.8×10­18 W 6000
Å
λ = 6000×10­8cm, = hc/6000×10­8=2.06 eV,

W18108.1 −× /( eV106.1 19−× *2.06)=5.4

2.19 250C 1.675×10
­27
 kg

939.5 MeV/c
2

(1) 

(2)  2.82 Å NaCl

E 298K (3/2)kT = 6.17×10
­21
 J=38.5 meV,

(1) m10458.1
mE2
h 10−×==λ =0.146 nm,

(2)  θ = 15.5°

2.20 

1 m  0.5 Å

mE2
h

=λ R 1 m
)101(4 9

0

2

×
=

πε
eE = 1.44×10­9 eV

λ =3.232×10­5 m = 32.3 µm,

λ (R 0.5×10­10m = 0.23 nm

3.1 

10.2eV, 121.8nm,
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3.1 

10.2eV, 121.8nm,
121.8nm , .

3.2  n = 2

:    2 2
1/ 2S s =1/2 l=0 j =1/2 mj   = ±1/2

                                    2 2
1/ 2P       s =1/2, l =1 j =1/2 mj =±1/2

                                    4 2
3/ 2P         s =1/2 l =1 j =3/2 mj = ±3/2 ±1/2

3.3 

)1cos3(
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2

0
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0
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
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



= − θ
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2
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∫ −>=<
∞

0

2
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0

*
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e(RU
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= dr)

a
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4
e(

a
4

00 0

2

3
0

−∫ −
∞
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                                                    =
00

2

a4
e
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−

3.5  2s  2p  1310−<r cm

* 2( ) nl nlP r dr R R r dr=

2s n=2   l=0

P = ∫ −−=∫
r

0

2

0

2

0

3

0

r

0

2
20

*
20 drr)

a
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              =












∫ ∫ ∫ −+−−−
r

0

r

0

r

0 0

4
2
00

3

00

2
3
0

dr)
a
rexp(r

a
1dr)

a
rexp(r

a
4dr)

a
rexp(r4

a8
1

x =
0a
r

=10­13/5.3×10­9=1.89×10­5

00 a
r1~)

a
rexp( −

−

P < 1/8×(4/3 x3+… ) ~ 1×10 15

2p n=2 l=1

* 2 2 2
21 21 3

0 0 00 0

1 ( ) exp( )
24

x x r rR R r dr r dr
a a a

= −∫ ∫

P = 







∫ −−−−
r

0 0

3

0

4

0
3
0

dr)
a
rexp(r4)

a
rexp(r[

a
1

a24
1

1/24×(1/5x5+…) = 2×10­26

3.6    (1) l =3
(2) z

: ( )1 2 3L l l= + =h h .

: z lL m= h , 0, 1, 2, 3lm = ± ± ±

3.7  500 nm 10­8 cm

2

3
0

33

3
16

ifif P
hc

r

ε
νπλ = = 5.8×107 ν 6×1014 1/s

if

1
λ

τ = 1.7×10­8 s

3.8  n =3    n =3 →n =2  n =3 →n =1 

:
2

3
0

33

3
16

ifif P
hc

r

ε
νπλ =

32 32

31 31

5
32

E
E

ν
ν

= =
3

32
3

31

5
32

if

if

λ
λ

=
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: if k ifI N Eλ∝ ⋅ ⋅

: 432

31

5( )
32

I
I

= 6×10­4

3.9  T 300 K n = 2

: 2 2

1 1

exp( / )
exp( / )

N E kT
N E kT

−
=

−

2E =­3.4eV, 1E =­13.6eV

182

1

9.16 10N
N

−= ×

n =2 g2/g1 = 4 N2/N1 = 4(9.16×10­18)=3.66×10­17

3.10  λ =532 nm
1.2×10­8 s 2.0×10­8 s ∆λ

2
2

2
1 Γ+Γ=Γ =6×10­8 eV

: 2.33hcE eV
λ

= =

2E
hcΓ

=∆λ = 1.4×10­5 nm

3.12  2p  1.6 ns 2p

2
0

0

33

if P
hc3

16 r

ε
νπ

λ =

4He Hν ν= .

, 1/ 2He Hr r=

16ifHe ifHλ λ=

: 1/16He Hτ τ=

0.1He nsτ =
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3.13 

a = 10 cm b = 20cm v = 300 m/s
  2mm

: : z
z z

BF
z

µ
∂

=
∂

a : 30.33 10a
at s
v

−= = ×

υ⊥ = t (Fz / m)

25
1.0

=⊥

υ
υ

= 4×10
­3

Ag   A 108 Fz =υ⊥×M / t

23

273

z

z

10927.0t
1066.1108300104F

z
B

−

−−

××

×××××
==

∂
∂

µ

                                    = 69.7 T/m

3.14  l =1  s =1/2 l · s
  l =1, s =1/2, j =3/2 1/2

2 2 2

2
j s ls l − −

⋅ =
rr

j = 3/2 , 2ls h
rr

=⋅

j =1/2 ,
2

ls
2hrr

−=⋅

3.15   2p 

2n = , 1l = , 04r a= , 2L = h

2 3
08 e

ZeB L
m c rπε

=

0.138T=

3.16  ∆λ
n =1 n =2 .

2 2

, 2

3
4 1/ 2n j n

Z nE E
n j

α  
∆ = − − + 

: 5
2,1/ 2 2,3/ 2 4.5 10E E E eV−∆ = ∆ − ∆ = ×

2,1/ 2 2,3/ 2 13
2

2,1/ 2 1 2,3/ 2 1 2 1

( )
5.4 10

hc E Ehc hc m
E E E

λ −

→ → →

∆ − ∆
∆ = − = = ×
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= 5.4×10­4 nm

2 1E → n=2 n=1 .

3.17 

( 1) ( 1) ( 1)1
2 ( 1)

j j s s l lg
j j

+ + + − +
= +

+

, s=1/2 j= l+1/2 j = l­1/2

  j=l+1/2 ,
11

2( 1/ 2)
g

l
= +

+

l = 0 j = 1/2 g 2 1

  J = l­1/2 ,
11

2( 1/ 2)
g

l
= −

+

l = 1 j =1/2 g 2/3 1
, g [2/3,1) (1,2] 2/3 2 g = 1

3.18
2

3/ 2D

2
3/ 2D : j =3/2 l =2 s =1/2

g = 4/5

jz j j Bg mµ µ= ⋅ ⋅

jm =1/2 , jzµ = 23 10.37 10 J T− −× ⋅ , jm =3/2 , jzµ = 23 11.11 10 J T− −× ⋅ .

3.19  s =1/2 j = 5/2 g = 6/7
s =1/2 j = 5/2 g = 6/7, g l =3.

: 2
5/ 2F

3.20

, 2jg = , j =1/2, 1/ 2jm =

jz Bµ µ=

3.21  208Pb Z= 82 µ 2p µ mµ =207me

:

2 2 2

22n
Z cE

n
α µ

= −
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2 2

2

3( )
4 1/ 2n n

Z nE E
n j

α
∆ = − −

+

j =3/2 j =1/2 :

42.0
42 3

24422
==−=

n

cmZ
E

n
ZE n

µαα∆ MeV

3.22  n   l 2p  3d 

2p 3d :

4 2

3
1 2

1 1( )
2 1/ 2 1/ 2
mcE
n j j

α
∆ = −

+ +

2p n=2 j1 =1/2 j2 = 3/2
3d , n=3 j1=3/2 j2 = 5/2

2p 3d 162:16 = 10.1

3.23  n =2 
(1) 

(2)  n,l,j
(3) 

(4) 

(1) (2)

      (3) n =2

2 2

2

3( )
4 1/ 2n n

Z nE E
n j

α
∆ = − −

+

n=2, j=3/2: 5
2,1' 1.13 10E eV−∆ = − ×

n=2, j=1/2: 5
2,0' 5.66 10E eV−∆ = − ×

n=1, j=1/2: 4
1,0' 1.81 10E eV−∆ = − ×

2P3/2
2P1/2 4.5×10­5 eV .

(4) , 2S1/2 22P1/2
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3.24  B =5000 Gs
B

:

BgmE Bjj µ=∆

= 2.89×10­5 eV
:

52 5.8 10E eV−∆ = ×

:

101.4 10E Hz
h

ν = = ×

2.1hc cm
E

λ = =

3.25 

F

F I J= +
r r r

, :

F = (I+J) (I+J­1) |I­J|
J=1/2 I=1/2   F =1 0

                                                                                                                  F=1

2S1/2

                                                                                                                  F=0

3.26 (1

r v Be

(2)  µ =2.8µN
p

N M
e

2
h

=µ MP

22
0

2

4
8.2

rcM
eE

P

υ
πε

∆ h
⋅=

(3)
  (1) , :

0
34 e

e

ZeB r m v
m r

µ
π

= − ⋅ ⋅ ×
r r r
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    (2) :

22
p0

2

p
rcM4

e4.1BE
πε

υ
µ

h−
=−=∆

2 E∆

22
p0

2

rcM4
e8.2E

πε
υh

=

, 2.2×10­6 eV
      (3) :

== E/hcλ 0.56 m

3.27   R

R r













≤≤+−

>−=

=

Rr0,)
R2
r

2
3(

R
Ze

4
1

Rr
r4

Ze)r(V
)r(V

2

22

0

0

2

0

πε

πε

∫ ×−Ψ=∆
∞

0

2
0

* drr4)]r(V)r(V[E πψ

ψ

[ ] 2

0

2
2R

0

2
0

2 R
4
Ze)0(

5
2drr)r(V)r(V4)0(E

πε
π

π Ψ=∫ −Ψ=∆

π3
0

3

3
2

an
Z)0( =Ψ 2

0

2

3
0

3
R

4
Ze

a
Z

5
2E

πεπ
π

=∆
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4.1  n =2

(1)

(2) ∆E1 ∆E2

(3)

  (1) 3

  (2) 1E∆ .

2E∆ .

4.2  2p  3d  L

1 2 1 2 1 2, 1,......,L l l l l l l= + + − −

3,2,1=

3L = 1
3F 3

2,3,4F

2L = 1
2D 3

1,2,3D

1L = 1
1P 3

0,1,2P

4.3 

: 2 2 21 2 2s s p , 2p , 0,1, 2L =

0L = 1
0S
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1L = 3
0,1,2P

2L = 1
2D

l+s

4.4  Z = 16 Z = 26

2 2 6 2 41 2 2 3 3s s p s p 3
2P .

2 2 6 2 6 2 61 2 2 3 3 4 3s s p s p s d 5
4D .

4.5  LS jj 3p  3d

L­S L =l1+l2 L=1, 2,3 S= s1+s2 S= 0, 1
1

1P , 3
0,1,2P , 1

2D , 3
1,2,3D , 1

3F , 3F2,3,4 J

(2MJ+1) MJ 60 .

j­j . 1l = , 2/11 =j 2/3'
1 =j

                  l = 2, 2/32 =j 2/5'
2 =j

(j1, j2)J

              (1/2 , 3/2)1,2   (1/2 , 5/2 )2,3 (3/2, 3/2)0,1,2,3 (3/2, 5/2)1,2,3,4 J
(2MJ+1) MJ 60

4.6  d 

d 1
0S , 3

0,1,2P , 1
2D , 3

2,3,4F , 1
4G .

: 1
0S , 3

1S , 1
1P , 3

0,1,2P , 1
2D , 3

1,2,3D , 1
3F , 3

2,3,4F , 1
4G , 3

3,4,5G

4.7 
2 S3/2

3 D2
5 P3

5 F0
1 P2

2 D2

2
3/ 2S L = 0 1/ 2s = 3/ 2j =

3
2D L = 2 1s = 2j =

5
3P L = 1 2s = 3j =

5
0F L = 3 2s = 0j =

2
2D L = 2 1/ 2s = 2j =
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2
1P L 1 S 0 J= 2 ,

4.8  4D 4P

4 D L = 2 S =3/2 4
7 / 2D , 4

5/ 2D , 4
3/ 2D , 4

1/ 2D

4 P L = 1 S =3/2 4
5/ 2P , 4

3/ 2P , 4
1/ 2P

, :

4 4
7 / 2 5/ 2D P→ ,

4 4
5/ 2 5/ 2D P→ , 4 4

5/ 2 3/ 2D P→

4 4
3/ 2 5/ 2D P→ , 4 4

3/ 2 3/ 2D P→ , 4 4
3/ 2 1/ 2D P→

4 4
1/ 2 3/ 2D P→ , 4 4

1/ 2 1/ 2D P→

4.9  1s22s22p53p1 L S
2S+1LJ

2p . 2p 3p
, :

1
0S , 3

1S , 1
1P , 3

0,1,2P , 1
2D , 3

1,2,3D

4.10  LS
S L J

J .

)4J(:)3J(:)2J(:)1J(4:3:2:1::: 00004321 ++++==εεεε

J0 = 0 , 2S = L = 2 5D0,1,2,3,4

4.11  1s22s2p2

: 1
0S , 3

0,1,2P , 1
2D , 3

0P .

4.12  60333 cm­1 60353
cm­1 60393 cm­1

(1) LS S L J
(2) J  0,1,2

: (1) :

32

21

2
1

E
E

=
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0J = .

, 1S = , 3
0,1,2P

      (2) LS ∆S 0 ∆L = 0, ±1 ∆J = 0, ±1 J 0        J 0

4.13  λ = 422.7 nm B =3 T

, E2 E1

0 B lh h B mν ν µ= + ∆

: 0, 1lm∆ = ±

: 104.2 10B B Hz
h

µ
ν∆ = = ×

:
ν
νλλ ∆

=∆ =0.025 nm

4.14  3 2P1/2 3 2S1/2 589.6 nm B 2.5 Wb·m­2

: 4
2

1/ 23 P jm     1/2

                                                                                                              ­1/2

2
1/ 23 S                                                                       1/2

                                                                                                              ­1/2

                                            g                                      mg

2
1/ 23 P               2/3 1/ 3±
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2
1/ 23 S               2 1±

: 0
max

4 / 3 B
hc h Bν µ

λ
= −

max 589.64nmλ =

: 0
min

4 / 3 B
hc h Bν µ

λ
= +

min 589.56nmλ =

4.15  8.6  mT
120 MHz

B
m2

eBE B
h

==∆ µ

BB
h

B
E

m
e ν∆πν∆∆ 422

===
hh

=1.75×1011 C/kg

4.16  Cd  6438 Å 1D2
1P1

Cd 643.8 nm
, ,

,

4.17  n l s j m n  =  3

l =0, s=1/2, j=1/2, mj=1/2 ­1/2   (0, 1/2, 1/2, 1/2)   (0, 1/2, 1/2, ­1/2)
l=1, s=1/2, j=1/2, mj=1/2 ­1/2   (1, 1/2, 1/2, 1/2)   (1, 1/2, 1/2, ­1/2)

                          j=3/2, mj=3/2, 1/2, ­1/2, ­3/2   (1, 1/2, 3/2, 3/2)   (1, 1/2, 3/2, 1/2)
                                                                                          (1, 1/2, 3/2, ­1/2)   (1, 1/2, 3/2, ­3/2)
    l=2, s=1/2, j=3/2, mj=3/2, 1/2, ­1/2, ­3/2   (2, 1/2, 3/2, 3/2)   (2, 1/2, 3/2, 1/2)
                                                                                          (2, 1/2, 3/2, ­1/2)   (2, 1/2, 3/2, ­3/2)
    l=2, s=1/2, j=5/2, mj=5/2, 3/2, 1/2, ­1/2, ­3/2, ­5/2 :
                                                                                        (2, 1/2, 5/2, 5/2)   (2, 1/2, 5/2, 3/2)
                                                                                        (2, 1/2, 5/2, 1/2)   (2, 1/2, 5/2, ­1/2)
                                                                                        (2, 1/2, 5/2, ­3/2)   (2, 1/2, 5/2, ­5/2)

18 2n2

4.18  l =1 
S L J 0 l =1 6

        (L)5 + (L)1=0 L   S J
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4.19  8.3 eV 1s  259.3eV

KX
1s22s22p K L ,

259.3eV­8.3eV=251eV

4.20  KαX 6.375 keV
: :

2 1( 1) (1 )
4H KZ E E α− − =

: 26Z =

4.21 X 45 kV

: min 0.028hc nm
E

λ = =

4.22  X 10kV 20 kV Kα

:
1 2

3( ) ( )
K ac K ac

hc hc hc hc
E E E Eα α

− = −

acE .

: 8KE KeVα =

2 1( 1) (1 )
4H KZ E E α− − =

29Z = , Cu

4.23  X K  0.1782 Å K EK

E1

E1 EK

: (1)
K

K
hcE
λ

= 69.6 keV

      (2) 6.13ZE 2
1 ×= 74.6 keV

KE

4.24  Kα   1.66Å Kβ 1.50Å K 1.49Å
(1) Z
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(2) Lα

X

: (1)
166.0

1240Ek =α = 7.47 keV

: 28Z =

      (2)
150.0

1240Ek =β 8.27 keV
149.0

1240Ek = = 8.32 keV

K 8.32 keV L 0.85 keV
M 8.32 8.27 = 0.05 keV

Lα 0.85 keV

X
850

1240
min =λ   = 1.46 nm

4.25 

K /keV Kα/keV Kβ/keV
Zr 17.996  15.7  17.7

Nb 18.986  16.6  18.6

Mo 20.000  17.4  19.6

Z Nb Mo
Zr 

L K Kα

Zr                  2.296 keV
Nb                  2.386 keV
Mo                  2.6 keV

: 2 1( 1) (1 )
4H KZ E E α− − = =15.7keV

Zr 40Z =

4.26  Kα X θ = 7.270

2165kg/m3

: 2 sind nθ λ=

=
××⋅

=
×

=
1265.0104.172

1240
sin2

1240
3θkE

d 0.2816nm

NA=
ρ3d2

A
NaCl 58.4g

NA=6.05×10
23
 mol

­1

4.27  Kα E =59.1 keV
55.8  keV 33.7keV 21.6  keV 18.8keV

K E=25.4 keV L E=3.3 keV M E = 0.5 keV
1 59.1keV X L 59.1­3.3=55.8keV

2 59.1keV X K 59.1­25.4=33.7keV
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3 K M K L
(25.4­ 0.5 ­3.3) keV = 21.6 keV

4 L K L
25.4­2×3.3keV=18.8keV

4.28 (1)  K 0.0178 nm K Kα 0.0210
nm Kβ 0.0184nm Kγ 0.0179nm K L M N
(2) L L

K = ­hc/0.0178 L = ­hc(1/0.0178 – 1/0.0210)
(1)                         K                L                M                N

eV 69662      ­10615          ­2270            ­388
(2) 10.6 keV ,

Lα 0.1486 nm

4.29 X  0.4cm
8×103 4.7×103 2.8×103 1.65×103 9.7×102 /

x
xII )(/ln( 0=µ 131.7±0.3 m­1

4.30 (1)  (4F (6S (5D)
4 6 9

(2) B0 = 0.5 T 4.1~ =ν cm­1

(1) L S J

BJz Jg µµ =max, )1(2
)1()1()1(

1
+

+−+++
+=

JJ
LLSSJJg J

          L      S          J gJ µz,max (µB)
4F              3      3/2      3/2        2/5        3/5
6S              0      5/2      5/2        2            5
5D              2        2        4          3/2          6

(2) S=0

BLLmELmEE BLL µ2)()( =−=−==∆

3
B2

~hc
B2

EL
BB

=
µ

ν∆
=

µ
∆

= 1F3
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5.1  1000V
1000Gs 18.2  cm 1 (2)

(3)

mv qBR=

21
2

mv eU=

52 1.1 10 /eUv m s
qBR

= = ×

26/ 2.65 10m qBR v kg−= = ×

26

27

2.65 10 16
1.66 10

A
−

−

×
= =

×

5.2  He4
2 Ag107

47 U238
92 r0= 1.45fm

1/ 3
0R r A= 0 1.45r fm=

4
2 H A=4 2.30R fm=

107
47 Ag 6.88R fm=

238
92 Au 8.99R fm=

5.3  3H 3He 4He B/A M(3H)  =3.016050  u
M(3He) =3.016029 u M(4He) =4.002603 u M(1H) =1.007825 u Mn =1.008665 u

3 3 4, ,H He He

3H 1 3( ) 2 ( ) 0.009105nm M H M M H u∆ = + − =

/ 2.83B A MeV=
3He 1 32 ( ) ( ) 0.008286nm M H M M He u∆ = + − =

/ 2.57B A MeV=
4He 1 42 ( ) 2 ( ) 0.030377nm M H M M He u∆ = + − =
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/ 7.07B A MeV=

5.4  S34
16 M = 33.967865 u

34 1 34( ) 16 ( ) 18 ( )nm S M H m M S∆ = + −

0.313305u=

/ 931.494 0.313305/ 34 8.58( )B A MeV= × =

5.5  0.5 MeV, 2.0 MeV, 10 MeV 100MeV

k
2

e EcmE += )cmE(pc 422 −= p/h=λ

Ek = 0.5MeV E=1.01MeV p=0.87MeV/c p/h=λ =1.63×10­3 nm

Ek=2.0MeV: p/h=λ = 5×10­4 nm

Ek =10MeV     p=10.5 MeV/c p/h=λ =1.18×10­4

Ek =100MeV 51.24 10hc nm
E

λ −= = ×

5.6  β 57Ni 140Xe β β
β

2 /31.98 0.0155
AZ

A
=

+
        A=57                       Z=26 Fe

A=140                     Z=58 Ce

58 58 58
28 27 26Ni Co Fe→ →

140 140 140 140 140
54 55 56 57 58Xe Cs Ba La Ce→ → → →

5.7  Cu63
29 Cu64

29

Cu63
29

2p3/2 j = 3/2 l 1   (­1)l = ­1 3/2­

Cu64
29 2p3/2 1f5/2

pn jjI −= 1 pn ll)1( +− =(­1)1+3=+1

1
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5.8  7Li

7Li 3 4 3/ 21p 7Li 3/2

5.9  Be9
4 N14

7 Cl37
17

9
4 Be 3/ 21p 3/2 1

14
7 N 1 1/ 2p 1 1

37
17Cl 1 3/ 2d 3/2 +1

5.10 
210
Po α 5.3MeV

210 206
84 82Po Pb α→ +

(1 ) 5.4( )d
Pb

mE T MeV
M

α
α= + =

5.11  Al27
13 α 5.3MeV 8.6MeV α

1/3
0 4.35R r A fm= =

2
1 2

1/3 1/ 3
0 1 2

5.67
( )c

Z Z eV MeV
r A A

= =
+

5.3MeV r =7.1fm
8.6MeV r =4.4fm

5.12  HeH 3
2

3
1 → β

3
1( ) 3.016050M H u= 3( ) 3.016029M He u=

0.000021 0.0196M u MeV∆ = =

β 0.0196MeV

5.13  β 12.33 (a), 1 ml β­

A Nλ=
N = 2×(0.001/22.4)6.02×1023 =5.38×1019

2/1

2ln
T

=λ =1.78×10­9 /s
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        A = 5.38(1.78)×1010= 9.6×1010 /s

5.14  RaE Bi210
88 4.0mg 5.01 (d) β

0.33 MeV W

23 19
1

4 6.02 10 / 1.15 10
210

mgN mol
g mol−= × × = ×

⋅

6

1/ 2

ln 2 1.6 10 / s
T

λ −= = ×

131.84 10 /A N sλ= = ×

0.97 /W A J sε= ⋅ =

5.15 (1) Cs137
55 β­ 1.76  MeV

0.515MeV γ 0.661 MeV

(2) Ba137
36 K   EK = 37 keV L   EL = 6 keV

(3) 31 keV X
(2)

K                       661 37 624 KeV
L                       661 6 655 KeV

3 K L K Ba 31keV X

5.16  pOdO +→+ 1716 M(16O)=15.994915 u

M(17O)=16.999133 u M(2H)=2.014102 u

ep
17
8

2
1

16
8 mm)O(M)H(M)O(ME −−−+=∆

0.002059 1.92u MeV= =

5.17  238U 99.27% 235U 0.72% α 238U
4.5×109a 235U 7.05×108a

T T 1/ 2exp( ln 2 / )T T−

9 8ln 2 / 4.5 10 ln 2 / 7.05 10/ 0.9927 / 0.0072T Te e− × − × =

T = 5.94×109 a

5.18  (16.1±0.3) (5.40±0.14)%
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8g (9.5±0.1)
(5.0±0.1) 14C 5730 a

λN0 = 16.1 λN = (9.5­5)/8
λN=λN0exp(­0.693T/T1/2)

)
054.081.16

5.4ln(
693.0

5730
××

×=T = 3600

5.19 113Cd σ = 21000 b (1b =10­24cm2) 8.7 g/cm3

0.01%

0

ANt
Ae

ρ
σ− ⋅ ⋅

Φ = Φ

0.01%, 94.8 mµ

5.20  20500 km3

0.0156%.
0.0156%, 0.0312%.

192.05 10 g× 19 42.05 10 9 3.12 10 g−× ÷ × ×

242.15 10 MeV×

391.5 10 MeV× =2.4×1026 J

5.21  Am241
95

Am241
95

2I 1  I =5/2

5.22 Te130
52 β­ Xe130

54

2.5 MeV

5.23  238U α 1 mg 238U 740 α
238U

min/740== NA λ 740
238

1002.61012ln 233

2/1
=

×⋅×
⋅

−

T
T1/2 = 4.5×109

5.24 0.150MeV HendH 43 ),( 90o 0o
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Q= (Mx+MX)c2­( My+MY)c2 Q 17.59 MeV
900 En(1+1/4)=17.59+0.15(1­2/4) En = 14.1 MeV
00 5.5.5 En = 14.9 MeV

5.25 HenpH 33 ),( Q ­0.764 MeV

1   (2)   1.120 MeV 300

(1)

MeV
mmm
QmmE
abB

bB
th 019.1

113
13764.0

)(
=

−+
+

=
−+

+−
=

(2)







=

×+−×+±−
=

2/1

2/1

22/1
2/1

0304.0

4279.0
4

]12.12)764.0(3[4)30(cos12.1)30(cos)12.1(

MeV

MeV

En

    En = 0.183 MeV   0.00092 MeV
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6.1

(1) −+→ epn (2) een νπ ++→ −+ (3) γ+→ pn (4) −+→ πpn

1
2
3
4

6.2

(1) +−+ ++→ eep π (2) ++→+ ΣΛ0pn     (3) γΣ +→+ p

(4) −+→ πΛ p0 (5) µννµ ++→ −−
ee

1
2
3
4
5

6.3 π

p p d π ++ → +

2 2 2 2 * 2( ) ( ) ( )i i cm fE c p E m− = =∑ ∑ ∑
*

fm aE

bm

2 2 2 * 2( ) ( )a b a fE m c p m+ − = ∑

Ea ∑ += 22 )()( πmmm df

2 2 2( ) ( )
2

f a b
a

b

m m m
E

m
− +

= ∑

aT = Ea ­ma

2 2( ) ( )
2

f a b
a

b

m m m
T

m
− +

= ∑

Ta=287MeV
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6.4 K+ )( su K­ +Σ 1189.4 MeV

K − ( )us +Σ ( )uus K − 1− +Σ

1−

6.5 π µ

µνµπ +→ −−

µ p

cppc)cm(cm 22222 ++= µπ

p =29.7 MeV/c
Eν= cp = 29.7 MeV

µ −

µ
µ m2

pT
2

=

µ −

Tµ= 4.1 MeV

6.6 π 2.6×10­8 π 75  ns
(1ns = 10­9 s) π

π τ π

'τ 'τ γτ=

2 1( 1 )γ β −= − /v cβ =

0.94β = γ = 2.885

E = γ mπc2 = 402.6 MeV
T= E­ mπc2 = 263 MeV
p = β E = 378 MeV/c

6.7

e e e e e e++ → + + +
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2 2( ) ( )
2

f a b
a

b

m m m
T

m
− +

= ∑

6a eT m= 6×0.511= 3.07 MeV

6.8 π + 1690 MeV π +

π +

2 2( ) ( )
2

f a b
a

b

m m m
T

m
− +

= ∑

1690=∑ fm MeV π + Ta = 902.4 MeV

E =1042 MeV

6.9 Q I I3 S B Y

)( dsK )( ssφ )(uuu∆ )(ssdΞ

Q I I3 S B Y

)( dsK
0 1/2 1/2 ­1 0 ­1

)( ssφ 0 0 0 0 0 0
)(uuu∆ 2 3/2 3/2 0 1 1
)(ssdΞ ­1 1/2 ­1/2  ­2 1 ­1

6.10  3S1

3
1S ( 1)L+1 1 1

6.11 

(1)

(2)

(3)

6.12  3.1 GeV J/ψ
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Ψ/Jee →+ −+

e+ e­ J/ψ
3.1GeV

2 2( ) ( )
2

f a b
a

b

m m m
T

m
− +

= ∑

Ta = 9400 GeV

6.13  J/ψ JPC 1­­

  J 1 1   ( 1)L+1= 1 C (­1)L+S 1
L +S=1   L+1=1 L 0 S 1

0

6.14  −Ξ Q = ­1 B = 1, S = ­2

Q B S

I3 Q (B S)/2 1/2 −Ξ I3 1/2

I3 1/2 B 1 S = 2 Q = I3 (B+S)/2 = 1/2­1/2 = 0

Q B S
−Ξ ssd 1 1 2
0Ξ ssu 0 1 2

6.15 ρ­ −π : pp +ρ→+π −−

ρ­

π­ I =1 I3=­1, S = 0,B = 0

ρ­ I I3 ­1 S B

6.16  ρ 150 MeV 

Γτ /h= Γ 150MeV τ 4.4×10
­24

6.17 

(1) 0ππ +→ +p

(2) −+− Σ+→+ Kpπ

(3) γπ +→ −− e
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(4) 0π+Σ→ +p

(5) 0πππ ++++→+ −+pnpp

(2) 1 3 4
(5)

6.18 
−+→Λ πp

6.19 

(1) µνµπ +→ −+

(2) −−+− ++→ eeππ

(3) pe +→ −0π

(4) eenp ν++→ +

(5) eepn ν++→ −

µ

6.20

3 2

6.21  , , .

        (1) Λ0 → + +−p µ ν   (2) Σ + +→ + +µ ν n   (3) τ ν ν+ +→ + +e

        (4) µ ν ν− −→ + +e   (5) K+ +→ +µ ν

(1) µ
− +µ+→Λ νp0

(2) n++µ→Σ µ
++ ν

(3) τ
++ ++→ νντ ee

(4) µ
−− ++→µ νν ee

(5) µ
++ +µ→ νK
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6.22 

                


